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EFETHETRAOR
FRERERAOGIEAZEHZED) {I—_J\*Dzﬂz-l OH 1H EE.E
BT 4 HH 5 £ it
B] i3 3m] ;28 AT 296 364 399 763
AER1TH 1,035 1,175 1,287 2,462
mAET2TH 1,215 1,089 1,430 2,519
A R T 2,281 2.350 2571 4,921
BERT1TH 531 534 588 1,122
B ERT2TH 409 425 463 888
B ERI3TH 317 359 337 696
B ERTATH 533 487 528 1,015
B ERSTH 825 911 916 1,827
B EET6T H 367 401 421 822
HiF = HT 555 620 657 1,277
45 KHT 458 530 551 1,081
HHT 1,009 1,130 1,271 2,401
BEHT 53 55 59 114
A K BT 622 729 746 1,475
7 HT 443 452 458 910
RICET 471 511 536 1,047
FORHET 201 201 233 434
RFHT 211 214 250 464
KHET 369 349 387 736
KET1TH 237 250 291 541
XKET3TH 285 335 316 651
XETATH 883 828 1,034 1,862
fit] LLI BT 2,390 2,786 2,886 5,672
JE LT 978 1,118 1,220 2,338
EHERT2TH 299 438 433 871
EHERISTH 434 538 551 1,089
EHERT4TH 381 456 479 935
EHERSTH 331 392 462 854
EHERT6TH 209 279 268 547
EHERT7TH 162 245 252 497
=Y:i 332 344 398 742
8 [F T 1,617 1,502 1,761 3,263
=i ET 508 545 622 1,167
2l 3t BT 478 601 576 1177
N =15 103 121 124 245
+HEFRT A 635 646 712 1,358
L EFHTER 857 751 861 1,612
L HAET 1,976 2,190 2273 4,463
LFH¥ABT1TH 73 123 121 244
LH¥\ET2TH 158 161 180 341




HEZ HH 5 £ i
LH¥AET3T B 152 151 179 330
LF#ET4TH 160 172 198 370
LHABTS T B 214 269 289 558
I == HT 206 214 239 453
JOSFET1TH 551 527 565 1,092
JNsFET2T H 552 540 563 1,103
JO=fET3TH 424 444 414 858
M=rET4T H 1,098 1,109 1,140 2,249
I S5k T 591 613 665 1,278
I=F5di) 228 219 257 476
Jt B BT 30 38 39 77
E[d:) 407 353 348 701
fHZaE T 815 939 995 1,934
FHRHET 78 87 96 183
1 2 FF T 332 380 412 792
BEFE1TH 90 115 126 241
BEFE2TH 286 335 341 676
T EHT 130 147 144 291
/N BB T 3,086 3,155 3,376 6,531
1R T 259 291 310 601
YEZF HT 746 747 810 1,557
EXBI1TH 266 246 277 523
=/ LLIHT 225 166 128 294
Hh ek HT 17 17 5 22
T A EHET 10 13 10 23
THHEE1TH 721 681 721 1,402
THHEE2TH 526 578 565 1,143
THHEESTH 794 819 944 1,763
TEHE1TH 189 191 184 375
TEHRI2TH 816 766 888 1,654
TEHRISTH 166 168 184 352
TEHRI4ATH 90 94 106 200
TEHRISTH 221 240 247 487
T HAET 667 703 749 1,452
TET1TH 355 359 370 729
THET2 T H 463 444 489 933
TH#RBI3TH 205 204 238 442
THABTATH 157 154 184 338
HTAEHET 24 23 9 32
T 189 189 190 379
#8)11 BT 44 45 54 99
KT HT 302 323 350 673

e K HT 1,687 1,727 1,894 3,621

27588



HEZ HH 5 £ i
FSIED 276 328 320 648
XLAT1TH 846 800 939 1,739
XLAT2T B 316 343 363 706
X#ILET3TH 149 160 166 326
1 [ BT 49 66 80 146
hHET1TH 361 384 410 794
hHET2TH 454 486 527 1,013
hHEI3TH 429 515 519 1,034
niEld:) 258 248 291 539
th 2 JEHT 229 214 250 464
ch T 126 124 164 288
FRAHT 768 874 886 1,760
DiX /N 889 903 1,036 1,939
75 K ERET 794 990 1,027 2,017
75 2 [N HET 1,654 1,846 1,981 3,827
A 806 781 888 1,669
SFHEAT1TH 539 468 540 1,008
SFHEAT2TH 422 398 472 870
$FHEAI3TH 208 223 237 460
| BT 171 226 227 453
YHET1T B 380 477 494 971
RET2T B 345 365 401 766
HET3 T B 356 395 444 839
RET4T B 115 108 136 244
J\ & T 993 1,082 1,138 2,220
J\HHT 161 202 202 404
+ A ERT 253 294 329 623
AR 2,086 2,134 2,326 4,460
THAR1TH 23 21 21 42
THAR2TH 1,459 1,389 1,365 2,754
TAR3TH 189 167 173 340
THAR4TH 372 314 381 695
THARS5TH 959 698 968 1,666
T4HBI6TH 347 352 366 718
THRI7TH 361 395 435 830
T4HBISTH 391 420 433 853
THRBOTH 392 463 508 971
T4WB13TH 308 352 395 747
AR NBHT 1,984 1,729 2,005 3,734
HARRHET 1,333 1,237 1,242 2,479
HEARK/ERET 289 379 392 771
F AR JEHT 166 171 182 353
o NEL) 133 120 133 253

3./5%%



HEZ HH 5 = 5
FH AR hHT 202 228 263 491
HARAKHET 439 466 494 960
H AR EHT 324 347 388 735
EHARE)IIHT 294 277 303 580
=N ] 109 121 135 256
FH AR JTHT 104 98 116 214
EARERHE 668 577 670 1,247
B K BRHET 389 402 405 807
Edsa] 889 904 1,020 1,924
BIERI1TH 766 739 764 1,503
BEFET2 T H 594 601 677 1,278
BEFEISTH 350 412 413 825
AIFTET1T B 423 382 431 813
AIFFAT2T B 598 608 668 1,276
AIFTET3T B 599 694 747 1,441
A HT 187 216 198 414
H_LH 216 281 296 577
NEL] 802 794 866 1,660
ERL 733 911 922 1,833
= HHT 1,719 1,943 2,036 3,979
HEXHRET1TH 579 652 673 1,325
HLIRET2TH 508 603 646 1,249
HLAREISTH 294 373 375 748
P fx T 317 367 400 767
mERI1TH 1,155 1,133 1,283 2,416
mERI2TH 842 966 1,066 2,032
FA T 1,345 1411 1,587 2,998
= RITET 533 514 554 1,068
= AHT 350 283 347 630
AR#HT 10 9 4 13
=) 495 575 527 1,102
SHAE1TH 713 639 802 1,441
S HET2TH 405 442 471 913
aHEI3TH 859 751 921 1,672
S HET4TH 779 655 871 1,526
E& T 1 1 0 1
J\BRET1TH 210 273 267 540
J\BRET2T B 220 235 233 468
J\BRET3T H 241 293 302 595
1T HT 290 434 417 851
FHEIBRT1 TH 162 199 204 403
FHREIRT2TH 304 436 468 904
FIaTET3T B 104 171 169 340
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HEZ HH 5 £ it
EOER1TH 20 31 27 58
FEOER2TH 0 0 0 0
FEOER3TH 23 20 3 23

WEE 88,399 | 92638 | 100,421 | 193,059

5.5



